@bt:u C‘Q-LF ‘SOM‘.:
ey Wosde 285 e B

(5(@)6}‘.&&6 1554955.»,0) -— \‘J':Mﬁ

1z 22
det( (1 Ty ZL‘%) ) = (3 — x1) (23 — 1) (T3 — T9)

2
1 x5 x3

(6(2.)0JM‘ 1554’5&.,0) — Y‘J:MJ:’

Abian 3 iz O o)y 3 ool 155 25 sl s pa3 o8 (65 & 230 0 X 1 g ile S0 A4S 23

(9oyled ¢ 156 amitno ) — ¥ i

iy 3o D(E) b AL sz se sl a3 e 0 5l LT e B il 5 g (1) 5 f (1) S S5

S
ft) gt
o(t) = det( (f’(t) gl(t)))
:(..U\: daas olad
_ f)y  g(t)
ot = aer( ({11 940 )
(100l ¢ 156 omio ) = ¥ i
_ (bu(t) alt)
Alt) = <b2(t) CQ(t)>
G5 S s Olse 4 1y O 5 By prizmen x50 B8 5 pdy Grlie ol 51 2 X 2 o Sl Ol &0

rs 5l K S s b e
¢(t) = det(A(t))

V—Rar (S S



64:.&3 QL&:}
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